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B.A. 6th Semester (Honours) Examination, 2020 (CBCS) 
Subject: History 
Paper: DSE-IV  

History of China & Japan (1919-1939) 
Time: 3 Hours                                                          Full Marks: 60 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

দক্ষিণ প্রান্তস্থ ঴ংখ্যাগুক্ষ঱ পূণণমান ক্ষনর্দণলক। 
পরীিার্ণীর্দর যর্া঴ম্ভব ক্ষনর্ের ভা঳ায় উত্তর ক্ষদর্ে ঵র্ব। 

1. Answer any Six of the following questions:                                5x6=30 
নীর্ের যয যকান ছয়ক্ষি প্রর্ের উত্তর দাওঃ  

a) Discuss the nature of May Fourth Movement in China. 
েীর্ন ৪’ঠা যম অর্দা঱র্নর প্রকৃক্ষে অর্঱ােনা কর। 

b) How did the political parties function in Japan in the 1920’s? 

১৯২০-এর দলর্ক োপার্নর রােননক্ষেক দ঱গুক্ষ঱ ক্ষকভার্ব কাে কর্রক্ষছ঱? 
c) How did the First World War affect East Asia?  

প্রর্ম ক্ষবশ্বযুদ্ধ ক্ষকভার্ব পূবণ এক্ষলয়ার্ক প্রভাক্ষবে কর্রক্ষছ঱? 
d) Why did Japan invade Manchuria in 1931? 

১৯৩১ খৃ্স্টার্ে োপান যকন মাঞু্চক্ষরয়া অক্রমণ কর্রক্ষছ঱? 
e) What was the role of the League of Nations in the Manchurian crisis of 1931?  

১৯৩১ খৃ্স্টার্ের মাঞু্চক্ষরয়া ঴ঙ্কর্ি োক্ষে ঴ংর্ের ভূক্ষমকা ক্ষক ক্ষছ঱? 
f) Explain the significance of the Yenan Chapter in China. 

েীর্ন আর্য়নান ঄ধ্যার্য়র োৎপযণ বযাখ্যা কর। 
g) Explain the importance of Long March in the history of the growth of Communism 

in China. 
েীর্ন ঴ামযবার্দর ক্ষবকার্ল ঱ং মার্েণর ভূক্ষমকা বযাখ্যা কর। 

h) What were the main causes of the failure of Japan in the Pacific War? 
প্রলান্ত ম঵া঴াগরীয় যুর্দ্ধ োপার্নর পরাের্য়র প্রধ্ান কারণগুক্ষ঱ ক্ষক ক্ষছ঱?  

2. Answer any three of the following questions:                             10x3=30                   
       নীর্ের যয যকান ক্ষেনক্ষি প্রর্ের উত্তর দাওঃ  

a) How would you explain the rise and growth of Warlordism in China? 

েীর্ন ঴মরনায়কবার্দর উত্থান ও ক্ষবকালর্ক েুক্ষম ক্ষকভার্ব বযাখ্যা করর্ব? 
b) Explain the background of Washington Conference (1921-22). 
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ওয়াক্ষলংিন ঴র্ে঱র্নর (১৯২১-২২) পিভূক্ষম বযাখ্যা কর।  
c) Do you think that “Japan’s imperialism was more situational than deliberate in 

origin”? 
েুক্ষম ক্ষক মর্ন কর যয, “োপার্নর ঴াম্রােযবাদ যেিানা যেচ্ছাপ্রর্ণাক্ষদে, োর যের্য় যবলী পক্ষরক্ষস্থক্ষেগে”? 

d) Analyse the process of industrial development in China under the leadership of 
Mao Tse-tung. 
মাও-য঴-েুং-এর যনেৃর্ে েীর্নর ক্ষলল্প ক্ষবকার্লর ধ্ারা ক্ষবর্ে঳ণ কর।  

e) Explain the impact of the Second World War on the history of Japan. 
োপার্নর আক্ষে঵ার্঴ ক্ষিেীয় ক্ষবশ্বযুর্দ্ধর প্রভাব বযাখ্যা কর।       
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B.A. 6th Semester (Honours) Examination, 2020 (CBCS) 
Subject: History 

Paper: DSE-IV (OR) 
History of the USSR-II (1945-1964) 

Time: 3 Hours                                                          Full Marks: 60 
The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as far as practicable. 
দক্ষিণ প্রান্তস্থ ঴ংখ্যাগুক্ষ঱ পূণণমান ক্ষনর্দণলক। 

পরীিার্ণীর্দর যর্া঴ম্ভব ক্ষনর্ের ভা঳ায় উত্তর ক্ষদর্ে ঵র্ব। 
1. Answer any Six of the following questions:                                5x6=30 

নীর্ের যয যকান ছয়ক্ষি প্রর্ের উত্তর দাওঃ  
a) What were the changes in the socio-economic role of women in the Soviet Union 

in the 1945-64 periods? Did the condition of women improve as result? 
১৯৪৫-৬৪ ঴ময়কার্঱র মর্ধ্য য঴াক্ষভর্য়ে ঴ংে মক্ষ঵঱ার্দর অর্ণ-঴ামাক্ষেক ভূক্ষমকায় ক্ষক ক্ষক পক্ষরবেণন 
েক্ষির্য়ক্ষছ঱? এর ফর্঱ ক্ষক মক্ষ঵঱ার্দর ঄বস্থার উন্নক্ষে ের্িক্ষছ঱?  

b) How did the Soviet Union reorganize its agriculture after the post-World War II 
period? 
ক্ষিেীয় ক্ষবশ্বযুদ্ধ পরবেণীকার্঱ য঴াক্ষভর্য়ে আউক্ষনয়ন ক্ষকভার্ব কৃক্ষ঳ বযাবস্থার পুনগণঠন কর্রক্ষছ঱? 

c) How far do you consider the process of De-Stalinization under Khrushchev a 
necessary step? 
কু্র঴র্ের্ভর ঴ময় ঄ব-স্তাক্ষ঱ক্ষনকরন প্রক্ষক্রয়া কেিা প্রর্য়ােনীয় ক্ষছ঱ বর্঱ েুক্ষম মর্ন কর? 

d) How did Yugoslavia under the leadership of Marshal Tito resist Sovietization? 
মালণা঱ ক্ষির্িার যনেৃর্ে যুর্গাস্লাক্ষভয়া ক্ষকভার্ব য঴াক্ষভর্য়েকরণ প্রক্ষের্রাধ্ কর্রক্ষছ঱? 

e) Why did Khrushchev refuse to accept Hungary leaving the Warsaw Pact? What was 
the consequence of this refusal? 
কু্র঴র্েভ যকন ঵ার্েক্ষর িারা ওয়ারল েুক্ষি পক্ষরেযাগ করর্ে ঄঴েে ঵র্য়ক্ষছ঱? এআ ঄঴েক্ষের পক্ষরণাম ক্ষক 
঵র্য়ক্ষছ঱? 

f) How did the presence of nuclear weapons shape international politics during the 
Cold War? 
ঠাণ্ডা ঱ড়াআ-এর ঴ময় ক্ষকভার্ব পারমাণক্ষবক ঄র্ের উপক্ষস্থক্ষে অন্তেণাক্ষেক রােনীক্ষের্ক প্রভাক্ষবে কর্রক্ষছ঱? 

g) How did Vietnam enter the Sphere of the Cold War? 
ক্ষকভার্ব ক্ষভর্য়েনাম ঠাণ্ডা যুর্দ্ধর অবর্঵ প্রর্বল কর্র? 

h) Why is the Korean War significant in the history of the Cold War? 
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ঠাণ্ডা যুর্দ্ধর আক্ষে঵ার্঴ যকাক্ষরয়ার যুদ্ধ যকন গুরুেপূণণ? 
  

2. Answer any three of the following questions:                              10x3=30                   
   নীর্ের যয যকান ক্ষেনক্ষি প্রর্ের উত্তর দাওঃ  

a) Describe the process of Sovietization of Eastern Europe in the post-World War II 
period. 
ক্ষিেীয় ক্ষবশ্বযুদ্ধ পরবেণী ঴ময়কার্঱ পূবণ আউর্রার্প য঴াক্ষভর্য়েকরণ প্রক্ষক্রয়া বণণনা কর। 

b) How far was De-Stalinization responsible for the deterioration in Sino-Soviet 
relations in the post–1953 period? 
১৯৫৩-পরবেণী ঴ময়কার্঱ েীন-য঴াক্ষভর্য়ে ঴ম্পর্কণর ঄বনক্ষের েনয ঄ব-স্তাক্ষ঱ক্ষনকরন প্রক্ষক্রয়া কেিা দায়ী 
ক্ষছ঱? 

c) What were the policies adopted in the agricultural and industrial sectors in the 
Soviet Union under Khrushchev? 
কু্র঴র্ের্ভর লা঴নাধ্ীন য঴াক্ষভর্য়ে ঴ংর্ে কৃক্ষ঳ ও ক্ষলল্প যির্ে ক্ষক ক্ষক নীক্ষে ঄ব঱ম্বন করা ঵র্য়ক্ষছ঱? 

f) Why did the Soviet Union want to deploy nuclear missiles in Cuba? Why did the 
USA object to this? 
য঴াক্ষভর্য়ে ঴ংে যকন ক্ষকউবায় পারমাণক্ষবক যিপণাে োাঁক্ষি ক্ষনমণাণ করর্ে যের্য়ক্ষছ঱? এর্ে মাক্ষকণন যুিরাষ্ট্র 
যকন অপক্ষত্ত কর্রক্ষছ঱? 

g) How would you explain the Cold War–was it a clash of opposite ideologies or a 
power struggle? 
ঠাণ্ডা যুদ্ধর্ক েুক্ষম ক্ষকভার্ব বযাখ্যা করর্ব-এক্ষি ক্ষক ক্ষবপরীে মোদর্লণর ঴ংোে নাক্ষক িমোর ঱ড়াআ?  
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